

$$f(n) = \begin{cases} a + \sqrt{nr} & n < 1 \\ b\sqrt{nr} & n > 1 \end{cases}$$

مرکز - بیف درازم - خند

$$f'(n) = \begin{cases} 1 & n < 1 \\ \frac{b\sqrt{r}}{2\sqrt{n}} & n > 1 \end{cases} \quad \begin{matrix} n=1 \rightarrow a+1=b \\ a+b=r \end{matrix} \quad \textcircled{1}$$

$$f(n) = \frac{|nr-r|}{\sqrt{nr}} \quad g(n) = \frac{\sqrt{nr-r} + \sqrt{nr}}{\sqrt{nr}} \quad f'(1) = g'(1) = \left(\frac{\sqrt{r}}{2}\right) \quad \textcircled{2}$$

$$f'(1) = \frac{-r(1) - \frac{r}{2}(1)}{1} = -\frac{3r}{2} \quad g'(1) = \frac{-\frac{r}{2}}{1} - \frac{\sqrt{r}}{2}$$

$$f(n) = \begin{cases} bn+c & n < a \\ \frac{1}{n} & n > a \end{cases} \quad \begin{matrix} ab+c = \frac{1}{a} \\ b = -\frac{1}{ar} \end{matrix} \quad \left. \begin{matrix} c = \frac{r}{a} \\ ar = r \end{matrix} \right\} \quad \textcircled{3}$$

$$f(n) = \begin{cases} b & n < a \\ b + (n-a)^m & n > a \end{cases} \quad f'(n) = \begin{cases} 0 & n < a \\ m(n-a)^{m-1} & n > a \end{cases} \quad \textcircled{4}$$

در خروجی بیف $m-1 < m < 1$

$$g' \cdot f'(g(n)) = f'(n) \quad g(n) = \frac{1}{r\sqrt{n}} \quad f(n) = \frac{1}{r\sqrt{n}} \quad \textcircled{5}$$

$$f(g(n)) = n \quad (f'(n)) = 1$$

$$y = -ax + d \quad y' = -a \quad \left| \frac{r}{ca-d} \right| \quad f(r) = -ca-d \quad \textcircled{6}$$

$$-a+ca+d=r \quad a = \frac{r}{r} \quad f'(r) = -a \quad f'(r) = \frac{r}{r} \quad \frac{f(r)}{f'(r)} = -\frac{1}{r}$$

$$\left(\log\left(\frac{r}{\sqrt{n}}\right) \right)' = g'\left(\frac{r}{\sqrt{n}}\right) f'\left(g\left(\frac{r}{\sqrt{n}}\right)\right) \quad \frac{(-\sqrt{r})(4r)}{-\sqrt{r}\sqrt{r}} = \frac{(-\sqrt{r})(4r)}{-\sqrt{r}\sqrt{r}} \quad \textcircled{7}$$

$$g(n) = f(n+1) + f(n+10) \quad g'(-r) = f'(-1) + r f'(r) \quad \textcircled{8}$$

$$\lim_{h \rightarrow 0} \frac{(f(a+h) - r)(f(a-h) - 1)}{h(a-h)} = \frac{f'(a)}{a} = \frac{-r}{1} \times \frac{1}{a} = \left(\frac{-a}{1} \right) \quad (9)$$

$$f(a) = r$$

$$y = mx + c$$

$$4y - 3x = 1$$

$$y = \frac{x}{4} + \frac{1}{4}$$

$$y' = m = \frac{1}{4}$$

$$m = \frac{1}{4} \rightarrow m' = -r$$

$$3x - 4y = -1$$

$$3x = 4y - 1$$

$$(m = 1)$$

$$\left(\frac{1}{4} \right)$$